2

Y
A L = 3
(AfLEAH B) SERR264E5H 27H
= SERRWIR  |T B OB BT & O HKEEHRBREEE L & # w3

qzﬁmwﬁ(ﬁwi) &’5 & FABESE M A B B % (B - M) | (BE-F) | (mE-m) 7 ML X H#E MR
3 ) 26K 85

%iﬁiﬂ)lld\?ﬁﬂliﬂ}llﬁé%ﬁIEI$% & 708 /NFERETH ) 4,579, 000 3,938,000 4,440,0000 B LEERE + & B
SRR 25 4EEE ( BEEARr ) 253K 86

f&iﬁiﬁffﬁ#ﬂ% /%%Jllmﬁl;é%i)i(lﬁ?? 5 450 NFIRETAS /8 1,952, 000 1,678,000 1,900,000| G =Fogka + & B
SRR 26 4EEE 2558 88

HEE ) J%ﬁiﬁ%@é%ﬁIHI$ 45H IINGLEERTER )| 1, 324, 000 1,144,000 1,290,000 TR + &x B
SERE 26 4EBE 2538 89 &

Fﬁiﬁﬂﬂq}i?ﬁ%E}; Jﬁ%{‘é%@é%ﬁlﬁl$ 60H INFLSRRTER )| 3, 010, 000 2,601,000 2,980,000 A ERFRE) + KX #
Rk 26 R EK B 15 FEEAKE

3 7 130 B AN AR BN R R T 125H g 19, 401, 000 17,054,000 18,700,000 @7rr7-9v¥ |k #E B
SERR 26 4EEE 15 /s i

ﬁﬁfgmgggmig;ﬁ%gﬁ}ﬁ%g*ﬁ 1251 INFUSRET R 11,811, 000 10,371,000 11,600,000 EMFE-HARHE K OE OB
FRR 26 kkiE 1

oy ﬁ%&%ﬁgiﬁé FRk266E12826H | f5E LAGHE RIEA 1, 964, 000 1,737,000 1,860,000 tARKETERE |A #H
SERR 26 4EEE JREME £ 1 B &
qzig“’ﬁﬁg 5 %i i nk%%ﬁ(ﬁ?%ﬁl? PRR264£12.H 26 F }iﬁméﬁifﬁ’*’ﬁ 551, 000 488,000 495,000 WEMAETE |k E #
e 26 & 1

e AR me@%x; VRR264E12826H | 5 AERRA 276, 000 244,000 250,000 FAKELIHEE | A #E B
SRR 25 4REE ( RBEEARY ) 255 W 81 B B

Wm)|| g = AT 45H gl 1,011, 000 869,000 950,000 )| EE) + Kk =
SRR 25 FEE ( %ﬂﬁﬁ%@ ) 3552 %87 &
ng égﬂ fﬁ;% /2}5”); liﬁf%}l Igzi% - 60H A 3, 751, 000 3,226,000 3,640,000 BIgag =] + & #
SERR 26 4EBE 2538 90 &

ﬂiiﬁﬁgﬁiﬁ%@é%%iﬁlﬁlg 45H & LR R E 1, 298, 000 1,121,000 1,150,000 FKIEEE + & #
SRR 25 SREE ( BuEREAEF ) 253K 82

%iﬁﬁ)ll?ﬁﬁkﬂlﬁjﬁl?ﬁ%{ﬁ(m?$ 7 458 FHLAK 1,201, 000 1,033,000 1,110,000  HRHEREE + & R
ERL 25 4RBE ( MBEPIRT ) 255K 83 &

Em)| = A hjtJllMJllﬁé%??ﬁlH?$ 50 H EHAA 2, 539, 000 2,183,000 2,200,000 GHAKER»EBE | £ & B
R 25 SREE ( #EEARE ) 255K 84

%iﬁiﬂ)llk?ﬁ)llﬂ)llﬁé%ﬁmi@% & 45R WTF 1, 945, 000 1,672,000 1,800,000  (RFERER + & #®
R 25 EEE ( BBEIRE ) 25K 78

%ﬁﬁ)llif@)llﬁ)llﬁ%ﬁlazg " 458 HIZRET (L 1, 644, 000 1,413,000 1,570,000 @IFEEEAR | £ A& R
R 25 SREE ( #EEARE ) 255K 79

%iﬁiﬂ)llqﬂwllfﬂJIIﬁé%ﬁlHI?% % 45H EHRTHL 1, 933, 000 1,662,000 1,870,000 AleblEsE |+ A& B
TRk 26 S (REEHRE ) 26K 2 80 & _

)| LT S48 R T 45H ) 1, 224, 000 1,051,000 1,220,000 == 2V—MH | £ & &




